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A auﬂfzhﬁf_b,ﬁh‘?&w_C;u,’rrlﬁa//s:—u‘:uu"bé";:a-v&dl/ﬁf,téb’u}m -J"if:"—lDJ.!'ClB A .-‘.«Mz;fﬁgﬁdlr/: Y

- S o 4@11';’4,.34«".?& | -K’L%uﬁ" /) Jf Lﬂw.uy’g{ Lf ..'}_,f e -f.mr‘j hlt'-u..,nb?uf i(,k-w!‘d/ Py 4/ da&é—f 4:" u;;m,p;_w

Note: You have four choices fok each objective type question as , B, C and D. The choijce which you think is correct,

Fill that bubble in front of that question number, on bubble shee‘. 1se marker or pen to fill the bubbles, Cutting or

filling two or more bubbles will result in zero mark in that question. No credit will be awarded in case BUBBLES are

not filled. Do not solve questions an this sheet of OBJECTIVE PAPER. :
I

Q.No.1 1A
Y 3
%%+ 1 X" +1
1 e e R X Y » L[] i 1
M GEp G+ S ey T TR
(A) An identity &' ‘ _(B) A constant term ( "
(C) An improper fractin}n sy e (D) A proper fraction atls

(2) . Therangeof R={(13) (2.1 (4, 4)) s R={(13)(2.2) (3,1) (4 4N F
-dn (Range) R {x

)y 11,24} ®) {3.2,4} © 13,4} @ L2348

3 The number of elements in a pdwer sét {1,2,3} ist eSS sy L5125} (3}
(A) 6 (B) 4 < 2 ™ 1 ,

(4) A histogram is a set of adjacent: YT Sy @
(A) Squares 65t/ (8) Rectangles YA (©) Triangles U (D) Circles st

(5) Mean s affected by change in’ ‘ b VA e (5)
(A Value o v (B) Ratio =’ (¢) Origin J;t/ ¢ (D) Place

(6) If tand = /3, thep § isequal o 6= __Iatanf = JFA O

(A) 907 (B) 45° © 30° D) 60°
N The symbol fof triangle is denoted by: PR S Q)
CARIVAN S : 4 © L ® ©
@) ‘A tangent line:in_tefsectsl the circle at: .4 [N Ny ®

(A} Single point 4Bl (B) Twa points 4+ (¢)-Three points /,Mﬁcﬁ! (p) Four points .qwbg
) The length of u chord and the radial segment of acircle ame i duetr- 4 /.d:WJdluul PR T 9)

congruent, ’chevcgntml angle mglde by the ?hord will be: ta 8 g
Ay 30° . (B) 45° © 60° o) 75° , |
(10) A line intersecting circle is called: . e bt S (10
(A) Tsmgeﬁt Jv p’a)’ Secant U4 (¢) Chord 7 (D) Radius Ji
| - 11
(11)  Two lihear factors of x? = 15x + 56 are: ‘-‘,n;)é‘\l;.,%uf, s-15x+56 D
Ay (x=7) hnd (x +8) (B (x+7)emd (x- 8)
© (x-7)yand (x-8) @ (e+7)ad (x+8)
| 5 2 B o (12)
(D) i @, B eetherootsof 3x°+ 3% T 2=0, Pul3x? - Sx == 0 wds B e 41
then o + B st 1 wgdis B F B Fun
-5
3 -2 5 =3
A 3 ® 3 © 3 @® 3
(13)  Product of cube lroots ?f unity is: . R T o ZJw 13)
Ay 1 i (® -1 © o (D) 3 18
(14y Inaratio a: b, a i% called: -4,%:'11(61 u.‘!q 1hes
(A) Antecedent F A (») Consequent fzu,-m () Relation 3 (®) Proporh'on ..,f(‘-"
i a L é o B 4
(13)  The third proportional of x° and y° 18 gAY yrax (15)
2 4 2
b " ‘] 2 2
w I ® = © 4 ©) Y
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2023 (1%-A) ;
SSC PART-II (10“' Class) Adu

MATH ‘ ¢ .
EMATICS (SCIENCE GROUP) GROUP-1 so) Gl P
TIME ALLOWED: 2.10 Hours M IGN /223 5 210 =

. n ER ¥
MAXIMUM MA!{U{Si 60 SUBJE CTIVE 81 .0 60 = AS
NOTE: Write same question number and its -4l uﬁ,;,;',)'r.f zg‘p(‘éu: /r“‘ Al /‘ dlr@»;&(&lﬁ-:d«)

parts number on ameer book, as given in the question paper.
ECTION-L

2 Attempt any six parts. 12=2%X6 -{:‘14} u&valllgq—..df Ay

F‘) liff_mi quzdram sRtien, [ o Bt | |
@ | rite in the stagdard form. ‘ x_ L X *1l.s LG

\ “__x__‘_‘_zc__i_l_::é ,}C-\-l X U“dw(/t’d/lv’"

Q x4+l X \ N

SN

r(_jii) Solve by factorization. xt- - X x =20 = 0 | Pox-20= b ESE )‘\ (m)
(“’) ( Find the discrimipant. 3_(2 3x+3=0 \ Y¥o3x+3= 0 g &3 \ (iv)
(V) | Evaluate (1-a+0*) o L' (1-a+0®) ér.iv_,]\l .(V)
l s
\
|

| ( vi) .‘ Without solving, find the sum and the LF o Y AP ALS (i) \
product of the roots. 2o 5x+3=0

i | , _ x2-5x+3=0
\ (vid) [ Find the value of p, if theratic M2p+S: ’P+4«J5‘J/n£rr‘”:v»§u;p | {vii)

\ 2p+5 ?p+4 and 3:4 @eequal. |
1
| (viid) } If ¥ varies mversely as x and y =7 when

“ ,x—2 find y when x =126

% x—2 "T’ y= 7 m.»uﬁ",—"u" msly/’i‘ vm) ‘
o k=126 G v :

- N NI e o
: x) \Fmdafourth proportlona‘ to axt. 228, 185 50 et ix)
| ! 4x ) 2x3, 18x° . _ S
3. Attempt any six partg 12=2 %6 -é/ Fe ..,«W’Lm;ga_df B4 dw
’”‘T‘“‘-———’—M”""" e Y
P Dcﬁne1depmy - U’fJ/JJVS (1
‘,
E ! M -—'——‘-ﬂ'—-——‘—-—F'“____————-——‘—"‘"_‘_,___————w-—-"—'
'\_E;) “Write in the partial fractions form on’ b PR L x-11 A (“)
_x=u ' : (x=4)(x+3) \ ‘
| (x=4)(x#* 3) l .
L(m) | Define abuectwe funot on. B r _J S PSS
" _ﬂ_._r——-—-—'“"“‘—— - _,_.__—-——‘—‘_""_ __.._—-—-—-————"W .

Ty E K= (b4 779y e ¥ = {2,4.5,9) o245 9 s X = {L4T g
\thcnﬁnd)((\Y S XY
| - o, ooy __,_________,_____._‘_,_,__‘.

‘ W ‘If U={L23 — 10} and ‘ BF"358}MU—-\123 10},‘1' ™)
ﬁ 1‘ B=1{358} thqnﬁnd B 1 -q,‘f'()”B’?"; \\
. e @

(vn\lf A=1{a b‘;and,B—-:{c.d}, A><B?B=-‘c,d}uiA={a.b}fln vi) |
\ then find 4 x B ‘ | | e '1
‘ e I

ts. i ! L,//..u'/\f»»d‘\-’

L__.___.e-—————_"‘—'-—-—-"’“—
\ (vit) | Define class limi

SR B —-—-.--~..-—-L--—~'-‘~ -
L (vil) ) Define Arithmetic meall.

I S— S S PRS-,
\ (1x) Fmd Geometric rpean ranof 2, 4. 8 lr— 14, 8- -u‘fr!""'hﬂ'tfk"‘ T
K ,.__———————""“‘—'.——--v—-— o i e e 7 . e »-’—4._-.._'—-_,_,_._.———-—-——_..—_._,_.—-—-._
(2.‘1—’&# ) i .




(2) M/A/r-/r?-j

4, Attcmpt any §ix parts. 12=2%6 e yyl.?&iilga-éf.ﬂr/dlr
() | Find '#' when 8 = QO" and ¥ = 4.9cm Fo 6 =180, r =4.9cm fgleb ] W
N 5 H i 9 + ¢ ;;9 =
(i Verify the identify —- smw =1+ tanf | EB}-—-“E-Q--— =1+ tand ~u;f ebedle | G
. cosd  * | : 0ot ‘

(iif) | Defige radian measure of an angle. ! e il | (D)
(iv) EXprt;ss 60° into radian. | -#U:Q’&J/ 60° | (V)
(v) | Define Right angle. i ] _ S | W)
(vi) | Define tangent to a ciréleﬁ. | : EwSSselan | (VD)

] 5 e
(vii) | Define Segment of a Circle. | ! v Al | (Vi)
(vifi) | Define regular poljgon, ‘ et 2L, | (Vi)
(ix) | The length of the side of a regular pentagon Sy B 1S Juse 5‘;'7 Py (ix)

is Sem. What is its perimerer?: ; i \
SECTION-II (5. l
SR IANAL (e
24=8X%3 - 9 /dly-,ﬁig’wwﬁuuwd PNV GRS
NOTE: Attempt any three questlpns, Question No.9 is compulsory
F5.(A) Solve the equation, 2x +45%= J7x +16 ' @S 2x + 5= [Tx +16 | (LS :
; (B) Find the value of & , if sum ofthe roots of Z 2kx =35+ 4k =0 i A & r”’” e E (W
} the equation 2k x* - 3 + 4k = 0" fstwice b L L Pl oti s | ;
' the product of the roots. l
, 6.(A) | Using theorem of‘ comp;mudmdn;ldeudo u m + .i)n Lmrsp, e ‘}M'w 3 J"‘” e (.6
' | Find the value of ; ik ;p , i m=dn m - 3p
i 1 = - .
10np " " P -y m=~—7- /‘lg[./(}’”&g’d/ F
Cif om o= s n+p |
: n+p
(B) Resolve 1(1)1&0 partial imqmn ; ‘ 9 . A i | () |
. (XeP(x+2) | '
(=1 (x+2)? ' . i ‘
A I U={1,2,3, 305, USH23, 203 /G

X ={1,3,7,91518, 20 ¢ snd ;
: Y= {1 2
; Y=1{1,3,35, .17}, then show that :J' A=1{1.3,7,9,15.18,20}
' i Y~Y=XxXAY fg"}&:ﬁﬂ ¥Y=1123,5, §17}
‘ X-Y=XnY
| " y . : . . o 1
. (B) | The marks of six students in mathsmatics 60, 70,30, 90, —upifuS Pt FL Lo e (L)
| ave. 60,70, 30, 90, 80, 42 Determing AR i ‘)l ity o
variance and standard deviation, P A he sz 80, 42 |

8(A) Prove that tan + cotd = secd cosecd i : tand + cotd = sech cosecd Sudt | (LIS |

(B} Circumseribe & circle about a 111gngle ABC I 71]3" = 60m LU L1 oo dls 226 AABC | (L)
| w1th sides 'AB' = 6cm, iJEIC’ 3cm and 5 P o : ~ '

g , .-u.vr' CA' = dem a §f‘-' = 3cm :
] L4’ dem. ; '
9. ' Prove that one and only one circle can pass s (s D e b5 B B E s
» oot I il L e bl o S -9
: through thres non-collinear points, ; il dnide T d’}.fﬁ‘f o ]

OR | | |
* Prove that the measure of u central angie of ; J:J,,,;,H,W;ff!;;,i‘,ﬁgiu:g_ﬂ,ﬁfa{gv-
" aminor are of a circle, is double that of the R L .
- anglé subtended by the corr esponding g el gt r? Lo flF sien(sy
major arc, '

e —— e

£ s
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& | Number: 3196 | SSC PART-II (10" Class)

¢, MATHEMATICS (8CIENCE GROUP) GROUP-II o Gl DY
) |
TIME ALLOWED: 20 Minutés N TN — 2~ 28 e 20 = &I

MAXIMUM MARKS: 15  OBIECTIVES”.# | 15 = 4

o A au{}kﬁb{nﬁbjﬂ"dl&»&@ ?..t:/u-r.-‘;): u;/’b";tfa“.;é‘.bvédlr 14 iz aWéC"q)Ddl CB A .w.e;ﬁ»gg[:gw n wd

LYP 4 S paliy gz idied) _lfi..lgl,.-‘,'.‘}} PAYS u.".»w,r"J L;-'u,',f ..;nfu ..b'm»?w..rul.euf eSS 1 LS4 w}lmLJc.ufi
Note: You bave four cholces for each objective type question ad A, B, C and D, Thd cholce which you think is correct,
Fill that bubble in frout of that question number, on bubble sheet. Use marker or pen 10 ill the bubbles. Cutting or filling two or
more bubbles will result ip.zero mark in that question. No eredit will be awarded in case BUBBLES are not filled. Do not salve
questions on this sheet f OBJECTIYE PAPER. '

Q-No.1 "l /.-’w)w
(0 If Ef::_"__ﬂk thent ‘ ) P ¥oXaph ®
VoW : : Fa - v oW

(a) u=wk® (B) = vk? () u=wk b u=vik
(2) The third proportional of x2 and y? is: | g LAY Y @
)Iz . ; ; a9 yd‘ ) yz
(A) =7 ¢ R ) = D) =
% ; x %
2 ' 2 .
il 3 x*+1 G
4 ' J H >, 4 ¢ I '., ——“_.”--—
3) Partial fraction M(’x--&- Do aré of the form: e —_— z/d:iuf(x > B ~1)

A B (B) 152 Be+C T B Ax+B,  C
G x+1+x«'1 )1+x+1+ x-1 ' x+l x-1 (x+D x-1
(4) (AU BUC is equal to: | b (AU BYVC @

(A) Au(BUC ®) AN(BWC) ©) (AuBNC t»)) An(BnNC)

(3) If A and B are disjoirit sets then A B is equal to gebnsiz A B oS 2B sA So®
(A A . (® B O ¢ @) BuA ‘
(6) The extent of variation between extrere observations of a fim-a AN A Jlars” ©
set is measured by: ti .
(a) Average b (@) Dispersion 421 (c) Range & (D) Quartiles UG

(7 A deviation is defined as a differénce of any value of _:J}’y L awddas A‘*Uf g b 1 o)
4 the variable frdm &: _ :

(A) Constant A (p) Histogram e (c) Sum L& (D) Product o ” .
®  sec?f | -esz 860" 0 ®
p ‘ 5
(A} 1-sin*e .~ B 1+ tan> @ (C) 1+ cos“d (D) 1-tan*@
N The symbol for a q‘iangle is denoted by! o Lorim FORNC)
Ay <Z B A iy 4 S ©
(10) A tangentline intersects the circle at: . 0¥ :fd')u’b’ g Q0
o ! 3 2
(A) Three points /,b\ﬁwf' - (@) Nopointatall u:"f .;Ju'-"’u/
(¢) Two points 446 (D) ;Sing.lb point Py Mq ;
(11)  The semi circumference and the diameter of a circle bbtH gbs ST Yl i Zonn D
subtend a central angle of ' . e
(A) -90° (B) 180°, (C‘-L 270° ® 360"
(12) The meastire of the external angle of & regular hexajgon is: . ‘fT‘} Y R Y Lowmegi D
y Z E w Z o Z
(a) '3— (B) ‘4‘ C G ) .
(13) . The number of methods to solve 2 quadratic equation st s pLLL SIS .»,uu-&»» (13
(A) 3 ® 2 © 1 N R
2.
‘ \ ! sl + 14)
(14) . g+ B isequalto: . : : Geas & B
- ' p) L4 e pYA2ap (D) @* P
o> B
1 1 ' : I ] g 1
i ‘ PO Sk i ;
(1% 5:-4--/; is equal to: v o - (15)
Wl @i (© &8 ® 28
o a P o f - apB
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NOTE: Write same qilestion number and its

2023 (1%-A)
SSC PART-II (10" Class)
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TIME ALLOWED: 2.10 Hours
MAXIMUM MARKS: 60

MIAN 2723
SUBJECTIVE .0

" ‘..z,z:uzf,o/,,iirf fgsz:/ :7.;:! / Jisr s T RN

A

l/.u-.,r:f (u;:f u“"f’l'-' Ity bs
2210 = =
60 = A

parts number on answer book, as given in the question paper.

SECTIC N—I Jat e .

2. Attempt any six parts. 1252 X6 -g}{ j....u;é:?ug:-«jf 24 Jir
i) ! Write quadratic equation in standard forth: ‘ L ‘,_O'u& £ Ao lslnBsss , (i) i
i ) i ;
,L‘L?-.L._iq.z;.—,o | P x—2+4 0l I
o o x=2 |
(i) I Solve the equation uising quadratic formuia: | .;{U’;:.JW!LJMJJ»:/V;M ey —E
2 LA ‘
R A -14=35 ,'
G Tsolve f3x + 18 = x | PrA18 = x g5 | QD ;
(iv) [ Find the discriminant of the equation: ‘ 6x'-8r+320 Ep I 3. | (V)|
l ! 6x' —8x +3=0 | , f
‘ v !  Evaluate (1 - 3(0 RN J i (1 =30 - 302 ) g I' ™)
(v1) Wuhout solving, ﬁnd théwstml and quduq:t of the i AP o ,;g (Roots) PR s | vi) |

3 2
| . roots thhe equation.  3x%+ 74411 | - Fe2 4 Top o 1 ‘7-(("‘” ] ]
r‘ (vu) , If Yo -1— and y =4 when x=3, find 'x X dn x=83.k y=4 y o — / ) ‘
|
) D) i
e ;vhznh y=24 o y=2 .ﬁe;ip‘w |
viil) | Find the values of the I letter involved in the s = - eSS, p, 45 | (ViiD) !
i, contimied proportion. 5, b, 45 & JJ 4“", ;...-/ J"" b |
i) aocf—f and a =3 when b =4, e b=dos d:'jmaoc-lz-i(]x)!
L_ Find ¢ when b=8g - b=8.Bgng | |
3. Attempt any six parts. 12=2 X85 ..:{5.»;/ uuf...,lzugc_df 34 Jir
5 Fhehine Baea " T ¥
! (1) ! Define fraction. . L | . é{ " /'J /; ) f
‘ (ii) | Convertinto proper fra;ictimz %c__;_}_x__]é -.;.';{J,A;w'/@au/ -éf—;«z)ﬁ-:-l—é (i) ;
! x5~ x ~ ' X - x -
r . . | _J
j (i) JIf X =g and ¥ =2 then find XL T -é,»;h* m} ?:1 V=2 4 X= ¢ Al (i) ’
!—("i'\”f)"wffyA {a, b} and B—{c d} thenﬁnd o in B={c,d} #4 ={a, b}. nlav) ]
B x 4 ;

F | X 4 L a o -é[’)’)B x 4 !
; M If L={a,b,c{and M = {3, 4}thentmd I M={3,4} wl={a,b,c} il (V} |
. two binary relations of A x [ N _ Jf(:"’&/lu 0l M x L |

: (v? Define intersection of two sets, I | - LV ASBE L Ut (v'i')

i (vii) f;n t;n. I;gw:n data ﬁnd the harmonic mean, ' 12, 5, 8, 4. g{r:"’b;i .,,E}T,'f‘ & &:lrc’f?.,: (vii)
- — - ; ‘ ,
' (viil) | Define standard deviation, ' et P S i | VD)

. (ix) | Write two properties of arthmelie mean. o Sides | ()
” e | | - |




MTN 2723

(2)
4. Attempt any six parts. 12=2%X6 ‘ “{54}1:4-,&';2&!2@«—3/ -4/:7 Jiy

(@ | Whatis the sexa%esimal system of measurement "I ‘ K LB IL Sk wSumw @ |
of angles? . w—

G | Convert % into deéreq:. \ AN zg— @)
@ [Find- r, when £=52cm, 0= 45° ‘, o =450 =52 BT | @) |

\F ) | Prove that tan* @ + tan’ 6 = tan 6 sec’d | tan'f+ ta;x_? 0 = tan? @ sec? St | () i
[v) | What is megnt by 210 dihension? e (e e R
i) | Define length of atangént. T }" » Ao Ssdduv. ™ |
"(vil) | Define segment of a circle. T | \ ' s ,;Wﬂ
| (viii): Define circumscribed circle.; _L- E oy \ (Vi) |
r(ix), "l Divide an arc of any length mt? four equal partsjil__ . é’)" L diady AERIay U;I (i);)']

SECTION-II (52

24=8X3
NOTE: Attempt any three

-4.6)11 9 / dif-g"-;/.,/" w&lﬁécamrc}f c'é;f .j-:..*,«:?

9 is compulsory.

questions. Question No.

lFS.(A) l‘ Solve the equation. Jix+T=2x+ 3 'a \/3" +7=2x+3 _»45‘)’,(.;1,1,- \ (Jij-s !
\—'(B) TF o, B are the roots of the/equation » I mesn el ks B A '.I () |

| g2 mx e n=0, (£0) then findthe | | 1
et weoygpiene Ly Lo oo Sl (€2 0) | |
| value of —5 + —7 é al P A 1
SR S o/ . et
1 6.(A) | Using theatem of ¢o ponendo-dividendo; *i " Sk S e i, 3k | (-6 ;
: X hy x+2z . ';
find the valpe of £ 4 —— if Dl 42 x+ 22 ;
Pevlfe oty Sgereld T
‘ = 4))2 4y,2' \ ‘
. y+2z o x=—= '
| P . y+z|
(B) | Resolve into partial fragtions ‘ Cx-11 o )
x=11 ‘ (x—4)(x4’-3')'é:‘}fwmd’f
(x—4)(x+3) T o) , I T
T(A) |1 A=1{23456}) ‘ CA=1{1,2,34, 5’6};,* T
— I . ¥
B={2,406,8}and In C= {148} B={2468)
C =1{1,4,8} thenprove that Q é
AU(BmC)?IV(AUBV‘(_{‘?"_JEL,,_ 3 AU‘(B(\‘C) ffu )('\(AUC) A, |
(B) | Calculate variance for the data || 10, ‘8. 9, 457,‘5, 12.8.6,8,2 ‘_ér’w“/}‘f()v () '
10,8.9,7,5.12,8,6,82 R o j ~
8.(A) | Verify the identity ‘ : S ekt | ()-8 !
(tan@ + gotd) (cosé + sin@) = secd + dosect 1 " |
i _,-,A,_,_; i U,Q%ﬂ.? + cotd) (ccﬂs@ +5in@) = secf + cos ech |
(B | Circumseribe a regular hexagon about a v B P S IS e o |
circle of radius 3em. T L A \
9. | Prove that a straight line, drawn from the Moio S § s s et pLatvd et \ 9!
centre of acircle to b}sect a chord (which is : . .-"* | 3
not a diameter) is perpendicular 19 the chord. ~g-vrd 4 | b
OR

["Prove that the méasuk of a central angle of

a minor arc of a circle is'double that of the l
angle subtended by t#‘xe corresponding ;
majot 8rc. | il

gﬁ;u’i*::!}d}"/Ub.’q'f,,c,u/f“u}‘u:g‘/":o/fu:/.ulf‘

-4.%’«'&1'3.‘4,"7.’!)/1‘; c.Ca/:-(J;‘,‘ila?"j,t

P

L
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